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NO. 0- 2.620 0.0 0.0
NO. 0+ 0.000  2.620 0.1 0.05 0.1 0.6 0.30 0.8
NO. 0+ 0.949  0.949 0.1 0.10 0.1 0.6 0. 60 0.6
NO. 0+ 5.094  4.145 0.1 0.10 0.4 0.6 0. 60 2.5
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NO. 2+ 17.300 12.670 0.1 0.10 1.3 1.1 1.10 13.9
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NO. 7+ 3.469  19.768 0.1 0.20 4.0 0.7 0.80 15.8
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NO. 12+  15.700  13.391 0.8 0. 80 10.7 0.9 0.90 12.1
NO. 12+  17.760  2.060 0.7 0.75 1.5 0.6 0.75 1.5
NO. 12+  19.800  2.040 0.0 0.35 0.7 0.0 0.30 0.6
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NO. 0- 2.620 0.0 0.0 0.0 0.0
NO. 0+ 0. 000 2.620 0.0 0.00 0.0 0.0 0.00 0.0 0.1 0.05 0.1 0.0 0.00 0.0
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NO. 0+ 5.094 4. 145 0.1 0.05 0.2 0.0 0.00 0.0 0.0 0.00 0.0 1.2 0.70 2.9
NO. 1+ 4.862 19. 768 0.0 0.05 1.0 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.75 14. 8
NO. 2+ 4. 630 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.30 5.9
NO. 2+ 17.300 12.670 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.3 0.30 3.8
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NO. 5+ 3.934 19.768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 1.3 0.85 16. 8
NO. 6 + 3. 701 19. 767 0.0 0.00 0.0 0.0 0.00 0.0 0.1 0. 05 1.0 0.0 0.65 12.8
NO. T+ 3. 469 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.05 1.0 1.5 0.75 14. 8
NO. 8+ 3.237 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 1.2 1.35 26.7
NO. 9+ 3.005 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.1 0.05 1.0 0.0 0. 60 11.9
NO. 10 + 2.713 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.05 1.0 0.4 0.20 4.0
NO. 11+ 2. 541 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.1 0.05 1.0 0.0 0.20 4.0
NO. 12 + 2.309 19. 768 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.05 1.0 0.0 0.00 0.0
NO. 12 + 15.7000 13. 391 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
NO. 12 + 17.760 2.060 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
NO. 12 + 19. 800 2. 040 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.00 0.0
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NO. 0- 2. 620 0.0 0.0 0.0
NO. 0+ 0.000  2.620 0.0 0.00 0.0 0.0 0.00 0.0 0.4 0.20 0.5
NO. 0+ 0.949  0.949 0.0 0. 00 0.0 0.0 0.00 0.0 0.4 0.40 0.4
NO. 0+ 5.094  4.145 0.0 0.00 0.0 0.0 0.00 0.0 0.4 0.40 1.7
NO. 1+ 4.862 19.768 0.0 0. 00 0.0 0.0 0.00 0.0 0.5 0.45 8.9
NO. 2+ 4.630 19.768 0.0 0.00 0.0 0.0 0.00 0.0 0.5 0.50 9.9
NO. 2+  17.300 12.670 0.0 0. 00 0.0 0.0 0.00 0.0 0.5 0.50 6.3
NO. 3+ 0.400  3.100 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.25 0.8
NO. 3+  12.100 0.0 0.0
NO. 3+  16.900  4.800 0.00 0.0 0.0 0.00 0.0 0.8 0.40 1.9
NO. 4+ 4.166  7.266 0.3 0.15 1.1 0.0 0.00 0.0 0.8 0.80 5.8
NO. 5+ 3.934  19.768 0.3 0.30 5.9 0.0 0.00 0.0 0.5 0.65 12.8
NO. 6 + 3.701  19.767 0.0 0.15 3.0 0.0 0.00 0.0 0.5 0.50 9.9
NO. 7+ 3.469  19.768 0.0 0. 00 0.0 0.0 0.00 0.0 0.4 0.45 8.9
NO. 8+ 3.237  19.768 0.0 0.00 0.0 0.0 0.00 0.0 0.5 0.45 8.9
NO. 9 + 3.005 19.768 0.0 0. 00 0.0 0.0 0.00 0.0 0.5 0.50 9.9
NO. 10+ 2.773  19.768 0.0 0.00 0.0 1.4 0.70 13.8 0.2 0.35 6.9
NO. 11+ 2.541  19.768 0.0 0. 00 0.0 0.0 0.70 13.8 0.5 0.35 6.9
NO. 12+ 2.309 19.768 0.0 0.00 0.0 0.0 0.00 0.0 0.5 0.50 9.9
NO. 12+  15.700  13.391 0.0 0. 00 0.0 0.0 0.00 0.0 0.5 0.50 6.7
NO. 12+  17.760  2.060 0.0 0.00 0.0 0.0 0.00 0.0 0.4 0.45 0.9
NO. 12+  19.800  2.040 0.0 0.00 0.0 0.0 0.00 0.0 0.0 0.20 0.4
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NO. 0- 2.620 0.0 0.0
NO. 0+ 0. 000 2.620 0.1 0.05 0.1 0.4 0.20 0.5
NO. 0+ 0.949 0.949 0.1 0.10 0.1 0.4 0.40 0.4
NO. 0+ 5.094 4. 145 0.3 0.20 0.8 0.2 0.30 1.2
NO. 1+ 4.862 19. 768 0.1 0.20 4.0 0.4 0.30 5.9
NO. 2+ 4. 630 19. 768 0.1 0.10 2.0 0.4 0.40 7.9
NO. 2+ 17.300 12.670 0.1 0.10 1.3 0.4 0.40 5.1
NO. 3+ 0. 400 3.100 0.0 0.05 0.2 0.0 0.20 0.6
NO. 3+ 12.100 0.0 0.0 0.0
NO. 3+ 16. 900 4.800 0.1 0.05 0.2 0.5 0.25 1.2
NO. 4 + 4.166 7.266 0.1 0.10 0.7 0.5 0.50 3.6
NO. 5+ 3.934 19.768 0.2 0.15 3.0 0.4 0.45 8.9
NO. 6 + 3. 701 19. 767 0.0 0.10 2.0 0.5 0.45 8.9
NO. T+ 3. 469 19. 768 0.2 0.10 2.0 0.5 0.50 9.9
NO. 8+ 3.237 19. 768 0.2 0.20 4.0 0.6 0.55 10.9
NO. 9+ 3.005 19. 768 0.0 0.10 2.0 0.8 0.70 13. 8
NO. 10 + 2.713 19. 768 0.1 0.05 1.0 0.7 0.75 14.8
NO. 11+ 2. 541 19. 768 0.0 0.05 1.0 0.9 0.80 15. 8
NO. 12 + 2.309 19. 768 0.0 0.00 0.0 1.3 1.10 21.7
NO. 12 + 15.700  13. 391 0.0 0.00 0.0 1.3 1.30 17.4
NO. 12 + 17.760 2.060 0.0 0.00 0.0 1.9 1.60 3.3
NO. 12 + 19. 800 2. 040 0.0 0.00 0.0 0.0 0.95 1.9
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NO. 0- 2.620 0.0 0.0
NO. 0+ 0. 000 2.620 0.1 0.05 0.1 0.4 0.20 0.5
NO. 0+ 0.949 0.949 0.1 0.10 0.1 0.4 0.40 0.4
NO. 0+ 5.094 4. 145 0.3 0.20 0.8 0.2 0.30 1.2
NO. 1+ 4.862 19. 768 0.1 0.20 4.0 0.4 0.30 5.9
NO. 2+ 4. 630 19. 768 0.1 0.10 2.0 0.4 0.40 7.9
NO. 2+ 17.300 12.670 0.1 0.10 1.3 0.4 0.40 5.1
NO. 3+ 0. 400 3.100 0.0 0.05 0.2 0.0 0.20 0.6
NO. 3+ 12.100 0.0 0.0 0.0
NO. 3+ 16. 900 4.800 0.1 0.05 0.2 0.5 0.25 1.2
NO. 4 + 4.166 7.266 0.1 0.10 0.7 0.5 0.50 3.6
NO. 5+ 3.934 19.768 0.2 0.15 3.0 0.4 0.45 8.9
NO. 6 + 3. 701 19. 767 0.0 0.10 2.0 0.5 0.45 8.9
NO. T+ 3. 469 19. 768 0.2 0.10 2.0 0.5 0.50 9.9
NO. 8+ 3.237 19. 768 0.2 0.20 4.0 0.6 0.55 10.9
NO. 9+ 3.005 19. 768 0.0 0.10 2.0 0.8 0.70 13. 8
NO. 10 + 2.713 19. 768 0.1 0.05 1.0 0.7 0.75 14.8
NO. 11+ 2. 541 19. 768 0.0 0.05 1.0 0.9 0.80 15. 8
NO. 12 + 2.309 19. 768 0.0 0.00 0.0 1.3 1.10 21.7
NO. 12 + 15.700  13. 391 0.0 0.00 0.0 1.3 1.30 17.4
NO. 12 + 17.760 2.060 0.0 0.00 0.0 1.9 1.60 3.3
NO. 12 + 19. 800 2. 040 0.0 0.00 0.0 0.0 0.95 1.9
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N
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+ 1.000 x 0.850 ) x 4 = 7.8
HEEH (RC-40) A= 1.400 x 1.400 =l 20
t= 150
iEsRE N= - EEAGE#L 1000 x 1000 A =l - &
N= - EEHEMAEHL) 1000 x 1000 FH =l -
N= 1 ERMAGE#L 1000 x 1000 A =l 1 %
& 8mAR W= 1.3 x 1.3 x 36.99 = 62.51
1LI 2 £ W= (099 x 2 + 0.8 x 4 )
x 3.06 = 16.95
FHMTEAE W=0.55 x 4 x 0.995 = 219 | 81.7 kg
40.8 kg[1tzH Y
(x T)
K iR V= 2.300 x 2.300 x 0.850
+ 1.400 x 1.400 x 0.150 =| 4.8 m
BREL = 48 - 1.7 31 m
L 2= o Vi = 1.300 x 1.300 x 0.850 = 1.4
V2 = 1.400 x 1.400 x 0.150 = 02 | 1.7 n
EEEE A= 1.400 x 1.400 =] 2.0




FAKRPIHEREHR

B1000-L1000-H1000

oAl A Al 3 A ==X v = ] E2)
oK avyl)—+k ock=18N/mm2 | m® 0.9
iy e m? 10.6
H 4 RC-40 - t=150 | m’ -
" RC-40 - t=200 % 2.0
e E=
T-25 (&) 1000 x 1000/ | #& -
(BEHER) 1000 x 1000 " _
GERR) 1000 x 1000 1" 1
ENEE kg 81.7 40. 8kg/#&
BEEE W=300 ¢ 19 p: )
T+ T
7 U8 m® 10.2
# R L m® 8.0
% + m’ 2.2
EmEEBIF m? 2.0




£k (B 1000 xW 1000 xH 1000 ) HEHEESE
14 #HVY
AIE B | 1000
MIE W 1000
. m&E  H 1000
e #MiE-1 BT 1300
- BB1 - 500 - Béxj)‘) - 500 91~I|E—2 W1 1300
o | | ,,,Li sAE-1 HI 1150
T\ r—.{‘—ﬁ - ‘ 2= T 150
. i - N I IHHHH%HHIHII ELI y ESEE  T2) 150
{::i{"""“ AN J1lE | mmm b2 1400
: ==\ /A HEEEE W2 1400
! EES==E] . N | HRBE T3 150
[
A = ‘ B1 (WD) o eiame e
‘ e Y A FIEEIE h 1150
. B3 (W3) {EHItE B3| 2300
JEHIE W3 2300
EHIE B4 3450
JEHI0E W4 3450
% ¥ R 4 = = B E B E
(XREI)
BRIV h V= 1.300 x 1.300 x 1.150
- 1,000 x 1.000 x 1.000 =l 0.9
SRIRE A= ( 1.300 x 1.150
+ 1.000 x 1.150 ) x 4 =1 10.6 m
EHEM (RC-40) A= 1.400 x 1.400 = 20
t= 150
iEiRE N= - EEAE#i) 1000 x 1000 F = - &
N= - EHEME#L 1000 x 1000 A& =l - &
N= 1 FEAGE#E) 1000 x 1000 A =l 1
ESHAR W= 1.3 x 1.3 x 36.99 = 62.51
1LI 2 £ W= (099 x 2 + 0.8 x 4 )
x 3.06 = 16.95
FHI®E [W=05 x 4 x 0995 = 81.7 kg
40.8 kg[1tzH Y
EHEE |019 N= 2 = 2 XK
(x I
K 17 V=( 2.300 x 2.300 + 3.450 x 3.450
x 1/2 x 1.150
+ 1.400 x 1.400 x 0.150 =| 10.2 m°
BREL = 10.2 - 2.2 8.0 m
%t Vi = 1.300 x 1.300 x 1.150 =
V2 = 1.400 x 1.400 x 0.150 = 2.2 m
EEEE = 1.400 x 1.400 =] 2.0




FAKRPIHEREHR

B1100-L1100-H900

oAl 8 Al 3 A HfI| #% = B
oK avyl)—+k ock=18N/mm2 | m® 1.0
iy e m? 10.5
M RC-40 - t=150 | m’ 2.3
" RC-40 - t=200 % -
e E=
T-25 (&) 1100x 1100/ | # -
(BEHER) 1100 x 11008 " _
GERR) 1100 x 11008 1" 1
ENRER kg 93.5 46. Tkg/#
T+ T
7 U8 m® 9.6
# R L m® 7.2
% + m’ 2.4
EmEEBIF m? 2.3




£k (B 1100 xW 1100 xH 900 ) HEHEESE
14 #HVY
Mg B 1100
g W 1100
_ mE  H 900
o ghiE-1 Bl 1400
— Bl 200 B mf—z W1 1400
i ! ML sA&-1 H1 1050
For| —(;4 TR | BE T 150
g | _ . | ||||l|llw:||||||||l ELl y E#E T2 150
e e I Y N VR HBEE B2 1500
ii -= A\ FA At H@E W2 1500
i — N — HBEE T3 150
I
AL | e ; B1 o) Coofort ey : 1278
Be i %m g"‘/’v—i‘J(R_FC—AO T | h | 1050
B3 (13) YEHIE B3 2400
IEEIE W3 2400
{EBIIE B4 3450
{EHIE WA 3450
% W X & 1 =X B E B E
(RAEI)
ER{KIVHY-b V= 1.400 x 1.400 x 1.050
- 1.100 x 1.100 x 0.900 =l 1.0
BRI F A= ( 1.400 x 1.050
+ 1.100 x 1.050 ) x 4 =] 10.5
EEHt (RC-40) A= 1.500 x 1.500 =l 2.3
t= 150
feti R = N= - EH#ER@E#gH) 1100 x 1100 A = - 54
N= - SEHEFAE%L 1100 x 1100 A =l -
N= 1 ZRAGE#RL 1100 x 1100 A =l 1 %
ESmAR W= 1.4 x 1.4 x 36.99 = 72.50
L1 7 £ W= (1.09 x 2 + 099 x 4 )
x 3.06 = 18.79
FHIFEE [W=055 x 4 x 0.995 = 219 | 93.5 kg
46.7 kg[1#&HY
(x T)
K iR V=( 2.400 x 2.400 + 3.450 x 3.450
x 1/2 x 1.050
+ 1.500 x 1.500 x 0.150 =| 9.6 m
H#EL = 9.6 - 2.4 7.2 w
% £ Vi = 1.400 x 1.400 x 1.050 = 2.06
V2 = 1.500 x 1.500 x 0.150 = 0.34 | 24
EEEE = 1.500 x 1.500 =] 2.3




FAKRPIHEREHR

B1100-L1100-H1000

oAl A Al 3 A ==X v = ]

oK avyl)—+k ock=18N/mm2 | m® 1.0
B m? 1.5

M RC-40 - t=150 | m’ 2.3

1" RC-40 - t=200 % -

JL—F o5&

T-25 (&) 1100 x 11008 ® 1

(BEHER) 1100 x 11008 " _

GERR) 1100 x 11008 " -

BEEE W=300 ¢ 19 p: )

T+ T

7 U8 m® 10.9
# R L m® 8.3
% + m’ 2.6
EmEEBIF m? 2.3




£k (B 1100 xW 1100 xH 1000 ) HEHEESE
14 #HVY
mig B 1100
piE W 1100
_ W& H 1000
o sME-1 Bl 1400
ST 0Bl 50 mf—z Wi 1400
' ' ML sAE-1 H1 1150
For| %_{_4 1T | BE T 150
g | _ . | ||||l|llw:||||||||l ELl y E#E T2 150
ce==—1 NN Sl e | mme B2 1500
i : =[5 Fr / =& EENE W2 1500
i — i ‘ e E@E T3 150
[
AL | e ; B (iwn Coofort ey : 1278
Be i %m g"‘/’v—i‘J(R_FC—AO A | h | 1150
B3 (1) JEHITE B3 2400
JEEINE W3 2400
JEHINE B4 3550
YEEI0E WA 3550
2 R % B X B E (B E
(KIET)
ERARIV Y- b V= 1.400 x 1.400 x 1.150
- 1.100 x 1.100 x 1.000 =l 1.0 n
HRARE 42 A= ( 1.400 x 1.150
+ 1.100 x 1.150 ) x 4 =| 1.5 m
HEEH (RC-40) A= 1.500 x 1.500 =l 2.3
t= 150
N U-Fh & N= 1 =#EfAE#®) 1100 x 1100 A =l 1 &
N= - SEERAE#E) 1100 x 1100 A =l - &
N= - #RAGE#®) 1100 x 1100 A =l - &
EHLE 019 N= 2 =l 2 XK
(x T)
K 1R V=( 2.400 x 2.400 + 3.550 x 3.550
x 1/2 x 1.150
+ 1.500 x 1.500 x 0.150 =| 10.9 m’
BREL V= 10.9 - 2.6 8.3 m
- Vi = 1.400 x 1.400 x 1.150 = 2.25
V2 = 1.500 x 1.500 x 0.150 = 0.34 | 26
EEEE A= 1.500 x 1.500 =] 2.3




FAKRPIHEREHR

B1100-L1100-H1300

oAl A Al 3 A ==X v = ]
oK avyl)—+k ock=18N/mm2 | m® 1.7
B m? 15. 1
EEM RC-40 - t=150 | m’ -
" RC-40 - t=200 % 2.6
JL—F o5&
T-25 (&) 1100 x 11008 ® 1
(BEHER) 1100 x 11008 " _
GERR) 1100 x 11008 " -
BEEE W=300 ¢ 19 p: 3
T+ T
7 U8 m® 16. 4
# R L m® 12.6
% + m’ 3.8
EmEEBIF m? 2.6




£k (B 1100 xW 1100 xH 1300 ) HEHEESE
14 #HVY
Mg B 1100
WIE W 1100
_ mE  H 1300
o ghiE-1 Bl 1500
— Bl 200 B mf—z W1 1500
i ! ML sAE-1 H1 1450
For| %_{_4 1T | BE T 200
g | _ . | ||||l|llw:||||||||l ELl y E#E T2 150
== NN - HEIE B2 1600
i 5 o= § At H@IE W2 1600
i — i ‘ e E@E T3 200
I
AL | e ; B (iwn Coofort ey : 1278
B2 (12) %ﬁ%(m EHEHIE h| 1450
B3 (13) JEHIE B3 2500
fEBITE W3 2500
fEAITE B4 3950
{EBIIE W4 3950
% ¥ X & 1 =X B E B E
(RAEI)
ER{KIVHY-b V= 1.500 x 1.500 x 1.450
- 1.100 x 1.100 x 1.300 =l 1.7
ER AR 43 A= ( 1.500 x 1.450
+ 1.100 x 1.450 ) x 4 = 15.1
EEHt (RC-40) A= 1.600 x 1.600 =| 2.6 m
t= 200
M VM N= 1 EEAGE#L 1100 x 1100 A =l 1 %
N= - SEHEFAE%L 1100 x 1100 A =l -
N= - SERRE#HH) 1100 x 1100 A = - 54
REER (019 N= 3 =l 3 =X
(x I)
K iR V=( 2.500 x 2.500 + 3.950 x 3.950
x 1/2 x 1.450
+ 1.600 x 1.600 x 0.200 =| 16.4 mw
H#EL V= 16.4 - 3.8 12.6 m
B x Vi = 1.500 x 1.500 x 1.450 = 3.26
V2 = 1.600 x 1.600 x 0.200 = 0.51 3.8
EEEE A= 1.600 x 1.600 =] 2.6 m




FAKRPIHEREHR

B1200-L1200-H1600

oAl A Al 3 A ==X v = ]
oK avyl)—+k ock=18N/mm2 | m® 2.2
B m? 19.6
EEM RC-40 - t=150 | m’ -
" RC-40 - t=200 % 2.9
JL—F o5&
T-25 (&) 1200 x 12008 ® 0
(BEHER) 1200 x 1200 " 1
GERR) 1200 x 12008 " -
BEEE W=300 ¢ 19 p: 4
T+ T
7 U8 m® 23.1
# R L m® 18.0
% + m’ 5.1
EmEEBIF m? 2.9




£k (B 1200 xW 1200 xH 1600 ) HEFFEHEE
1#Fr #HVY
Mg B 1200
Mg W 1200
_ m&E  H 1600
o #M8-1 B1 1600
. %] . 500 : Bé%” - 500 5'1~|1_1.§'_3—2 W1 1600
i i ML SE-1 H1 1750
For| —(;4 TR | BE T 200
g | _ . | ||||l|llw:||||||||l ELl y E#E T2 150
:%""""“: N ﬁ: ! I EpEiE B2 1700
ii == A\ /AE HEE W2 1700
i — N ‘ — HBEE T3 200
I
AL | e ; B (iwn Coofort ey : 1278
Be i %m g"‘/’v—i‘J(R_FC—AO A | h | 1750
B3 (1) YEHINE B3 2600
fEBITE W3 2600
$EHINE B4 4350
YEHINE W4 4350
£ Lo X % 1 2N B E (B E
(AETI)
ER{RIVY Y- b V= 1.600 x 1.600 x 1.750
- 1.200 x 1.200 x 1.600 = 22
ERIAE 1 A= ( 1.600 x 1.750
+ 1.200 x 1.750 ) x 4 =] 19.6
EEHt (RC-40) A= 1.700 x 1.700 =l 2.9
t= 200
o N= HEMA (288 1200 x 1200 A = 0 4
N= 1 SHEMAEHL 1200 x 1200 A =l 1 %
N= - SERRE#HH) 1200 x 1200 A = - 4
EHEE |019 N= 4 = 4 K
(x I)
K iE V=( 2.600 x 2.600 + 4.350 x 4.350
x 1/2 x 1.750
+ 1.700 x 1.700 x 0.200 =| 23.1 m
H#EL V= 23.1 - 5.1 18.0
% x Vi = 1.600 x 1.600 x 1.750 = 4.48
V2 = 1.700 x 1.700 x 0.200 = 05 | 51 m
EEEE A= 1.700 x 1.700 =] 2.9




BEHMEEIMNER BFBOX-B800
800
7
¢ s
= /\ .
= (/ "Q R}
k=18N,/mm2
BERZLAD / \%fgﬁ /2
BE 597737 (RC-40)
1160
(10mzg 1))
15 B e 4K ~F % BA{ST 5 = b5 =
BFEXRK N 10.0 BFBOX-B800
M BNy 40~0 : 11.6
EFEavhY-p o ck=18N,/mm2 m 1.16
) - BB m 2.0
BENIN 1:3 m 0.29
(x T)
73 i m 15. 46
#BER L D m 6. 80
b Ju ) (1B L] m 8. 66
HEmEIE e 11.6




HKEETHESR BFBOX-B800 (10m4 V)
I3 H il g =® Birl % 2
BRI
[BFBOX-B800]
L=  10.000 m
n= 10.0  / 1.000 (m/&) p:N 10.0
EHEM
[(B&EH799v-57 40~0. t=0.150]
A= 1.160 x 10.000 11.60 |m? 11.60
EHEyhY-p
[ o ck=18N/mm2)
V= 1.160 x 0.100 x 10.000 1.160 |m?® 1.160
EHEH)- B
A= 0.100 x 2  x 10.000 2.00 |m? 2.00
NN
[1:3)
V= 0.960 x 0.030 x 10.000 0.288 [m? 0. 288




HREETIHER BFBOX-B800 (10m Y)
IH H E g =R Bl # =
(1)
KR
V=( 1.960 x 0.700 + 1.160 x 0.150 )x 10.000 = 15. 46|m* 15. 46
HEREL ()
V= 15.46 — 866 = 6.80|m?® 6. 80
v 18 L]
Vi= 0.960 x 0.600 x 10.00 = 5.76
V2= EEEIVHY-pE Y 1.16
V3= 11.60 x 0.150 = 1.74
(EHEH) 3
2V=Im 8.66
HEEIF
A= EEEHEY = 11.60|m* 11.60
800
y.
| |
g | I
| |
] /) |
3 \_g_rﬁ?w-;
1 (o ckql 8N/mm2}
EILFQA:3 ERER
\ﬁgﬁ' Tr—55 (RC—40)
1160
1960




CSB ¢ 600

786
/ ) =
g
7 ‘ =
7oV e R
7
_EEASNLGD //
gZgarou—+ /|y of \EiH
(o ck=18N/mm2) B A5 77 RC-40)
986
(10m% v))
I8 B R K <t & ==X va £ = i =
EEKIK ;N 4.2 CSB ¢ 600
E At ﬁi?i{yz“/o\f%‘/o 40~0 2 9.9
HEEvh)-+ o ck=18N/mm2 m 0.99
) - R m 2.0
TN 1:3 m’ 0.24
(x T)
73 i m 17.55
R L D m 8.90
R n’ 8. 65
EEEE 2 99




HKEETHESR CSB ¢ 600 (10m4 V)
1§ H =t g =® B % &
BEKXIK
[CSB ¢ 600]
L= 10.000 m
n= 10,0 / 2.400 (m/=&) PN 4.2
EHEM
[(B&EH799v-57 40~0. t=0.150]
A= 0.986 x 10.000 9.86 |m? 9.86
EHEyhY-p
[ o ck=18N/mm2)
V= 0.98 x 0.100 x 10.000 0.986 |m°® 0. 986
EHEH)- B
A= 0.100 x 2  x 10.000 2.00 |m? 2.00
NN
[1:3)
V= 0.786 x 0.030 x 10.000 0.236 |m°® 0.236




BKEETHER CSB ¢ 600 (10m4 1))

15 H E g =® Bil # S
(1)
R
V=( 1.786 x 0.900 + 0.986 x 0.150)x 10.000 = 17.55|m* 17.55
R L (D]
V= 17.55 — 8.65 = 8.90|m?® 8.90
b 1825
Vi= 0.786 x 0.786 x 10.00 = 6.18
Vo= EEEII-bEY = 0.99
V3= 9.860 x 0.150 = 1.48
(EHEH) 3
2V=Im 8.65
HEEIF
A= EEEME Y = 9.86|m?® 9.86
786
1 / T g
g I |
| I
= | | § &
*g | |
B+ | / =
—_— /4 I O
d Y B
74
BMELZILLD 4
gyl r Ay
( U(:::(;ISN/mnD : 086 —-10 =21 Fv—5 (RC—40)
1786




PK1-RC2-D600

600 :
2 2
90° 5
p A 5 N
\\_
Hifa2Y—k o
= FEF
(gekSloh/m2) _Jo 750 o, “EEI5 R0
950
(10mzg 1))
18 =l e K T & ==X v # = b5 =z
BFEXRK N 4.1 PK1-RC2-D600
H s ﬁiﬁt‘?:“/o\:ié/o 40~0 2 95
EFEavhY-p o ck=18N,/mm2 m 1.56
)-8 m 5.2
(x T)
73 i m 16. 30
#BERE L D m 9. 46
b Ju ) (1B L] m 6. 84
HEmEIE e 9.5




HKEETHER PK1-RG2-D600 (10n24 Y)

5 _H &t g = By % 8§
BERARK
[PK1-RC2-D600]
L= 10.000 m
n= 100 / 2.430 (/&) x 4.1

A
[(B45599%-50 40~0. t=0.150]
A= 0.950 x 10.000 = 950 |m? 9.50

HEEvh)-+
[ o ck=18N/mm2]

V="0.156 x 10.000 = 1.560 m® 1. 560
(CAD & Y &H381)

EHE))- R
A= 0.260 x 2 x10.000 = 5.20 m? 5.20




HKEETIHER PK1-RC2-D600 (10m% 1)

IE H i ) EaN Bi 3 2
(+T)
PRI
V=( 1.750 x 0.850 + 0.950 x 0.150)x 10.000 = 16.30|m*® 16. 30
BREL (D]
V= 16.30 — 6.84 = 9. 46|m° 9. 46
s b
Vi= 1/4 x 0.700 x 0.700 x x x 10.000 = 3.85
Vo= EBELI-bE Y = 1.56
V3= 9.500 x 0.150 = 1.43
- 3 V=|m? 6. 84
HEmEEIE
A= EEEH &Y = 9.50{m?® 9.50

I ;
=0
600 0
4B | 5 I <
% ‘90“ g
£® | I
= I =
i __ 17 Els
3
—
oo f— ¢ -l
(o ck=18NAm2} e
A=0. 156m? 0 150 o, EERT
950
1750




BIITarvy)—rHER

Al m = F m =
1000
150 15
4 4 L
\ [=]
E B #H ) — L H)—
(\ZE)59v4-5VRC-40) ( c:r' ckz 1 éN/mr:Z) @T%avf%%—m) ( (? cf=7 i s)sN/m;m
1100
T E
150 150
T
ZLé g/
- |/
|
300
g =i R K <t & I=-Xiy) # = i =
EREA RC-40, £=0. 150 m 0.3
EmEavh)-+ o ck=18N/mm2 m 0.19
) - R m 1.8
HEEIE e 0.3




BT -MER
I H it g =X Bl #% =
EHEM
[RC-40. t=0.150]
A= 1.100 x 0.300 = 033 |m? 0.33
avh)-+
[ o ck=18N/mm2)
V= ( 1.000 x 1.000 - 1/4 x 1
x 0.700 x 0.700 )x 0.300 = 018 |m° 0.185
avh)- bR
A= 1.000 x 2 x 0.300
+ 1.000 x 2 x 1.000
- 14 x 7w x 0.700 ’x 2 = 1.8 |m? 1.83
HEMEEIF
= 033 |m? 0.33

ERM LY

>
1




FhE&HR T




fh et T B 8 5%

it %

i3 Al

2 I

3] 1%

B

fBin

i

BRI EEHR T

BHik®H

BERX ES—& #HH
B R ()

X

115.0

2mfE bR

¢ 76. 3xh=0. 85m

susbmm $H{T EFED
O v % 250x250x250




HitHT ERiEES
b {81 p:| =1 PN =i {81 p: | =1 PN
No. 0+ 45~ No. 2+ 14.8 26.0
No. 3+ 13.3~ No. 12+ 10.3 89.0

Ih

I

115.0

V.

a

oA B

op

115.0




HitHEHETO YD

—ASrY
Bl B = B =
AR
(BT O w7 | 250X 250X 250 e ol N T U -
HERA  [t=10cm
...... RC-40__ | ... 040 x 0.40 o =]0.20 M
| CEEEE | 0.40 X 0. 40 e =1...0.20_m’
|ERYE 0.90 x_ 090 x 040 + 040 x 040 x 010 =| 0.34 m’
..... BEL | 0384 - 005 21029 M
Kkt 0.30 x 0.30 x 0.40 + 0.40 x 0.40 x 0.10 = 0.05 m®




7.

‘AL




EAIHERHTR

ZRIET
1 A 2 I 3] 1% BT H =B m =
FEAL
EAL W=4. Om ERT 6.0
W=8. Om " 1.0
TEEEIE m2 128.0
W=4. Om m2 96.0
W=8. Om m2 32.0




£ AT EFTERE
W=4. Om
x 1 il = & Fr a 1 il = & AT
No. O+ 11.6~ No. O+ 15.6 1.0
No. 2+ 13.4~ No. 2+ 17.4 1.0
No. 5+ 143~ No. 5+ 18.4 1.0
No. 7+ 95~ No. 7+ 13.5 1.0
No. 7+ 15,7~ No. 7+ 19.7 1.0
No. 12+ 13.2~ No. 12+ 17.2 1.0 TREEIE
i3
£ ME&m B A EE m2
4% 4.0 6 = 96.0 96.0
M 6.0 I 5
E A& & F & 6.0




W=8. Om
x 18 pil = & Fr a 18 pil = & P
No. 9+ 185~ No. 10+ 6.5 1.0
TEEEIE
Sk
K fEEm T miE m2
4% 8.0 1 = 32.0 32.0
h B 1.0 I 5
E A& & § & P 1.0




8. WEYHMET

REZHEKER I E T




= 7 T =
¥ Al oA ) % BT 2 B =
ERERMET Ea 1
Bk ERME N 17" 400 m 71.0
REEET m 11.0
RYE m3 128.2 | 1om&f=Ystt
HOHERL m3 138.6 | 1omf=Y&EtE
TrRxX m3 10.0 | 1Om&sf=YEtE
BEERAIE R 2o
UE A& 800 x 490 x 2000 209.2 2R
m 157.5
UBUEIE BEZE 800 x 490 x 2000 m 99.5 BFIARE
UBLEIE BEZE 800 x 490 x 2000 m 58. 0| =5y
URMEIE BEZE |00 x 490 x 2000 m 52.0|#ix - HILHEFA
TEX AL m3 113 | EERIZET
UBIBIE mEiE 1200x800x2000| m 30. 0 B4t 4022
AV V- RUBETSRAFYI#M
) -HEHK [BIS R & P 1T IE t 220.2 BERERO Y
B7E REMER REHBRIE>XAKIC— B EFT L=25km
HrER (BERA) (MfA£ELH) t 5.6/ BERA
RHBRIFREANIC—BFERT| [ 3 L=25km
BITSRFvY sy v =md 8.7 BeZE
B L=10km
Ay — FLS EMLS t 56. 4
EHk  L=10km v =md 24.0
ALY 100x100x800 m3 1
a2 ) — MROENRE | B4R - AIE - Bk
EFEMERER (BRAL=Km) 4tE | [H 216.2t
I AT &R (BRAR kv oL=12kn) [a] 3/4.8t




BIEERET IERERE

¢ 400mm

1 Al = E K £ 1 A R E K

15%&Y AN

25F%Y A

RINERRL

© © o © (o
o O (e (e (e

wBINARERWD

35EY AN 7.0
45EY AN 7.0
5EEY AN 7.0
6S5EYAN 1.0
7TERY AN 7.0
BRI RE R 1.0
(81 T4

- P—
g7 B
- T P el Fa2 e T 1)
{=1. &mm,
Ehit
g7
EE
g
( 400
600 ' 300 [ 800
[§2>3)
1700
[S2=H
SLF— kAT 0 (54T HEE (10mHY)
& # #® iy it E R # 8| # =
S — R T L 3400 t=1.6mm | m 10.90
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M X I ¥ = it FE E &R
BEEYF L= 20. 000 HEH|
B A B g T4y 5 B Ty Ty Ty

NO. 0 2.620 0. 00
NO. 0 0. 000 2.620 2. 00 1. 00 2.6
NO. 0 2. 600 2. 600 4. 00 3.00 7.8
NO. 1 0. 000 17. 400 4. 00 4. 00 69. 6
NO. 2 0. 000 20. 000 4. 00 4. 00 80.0
NO. 2 17. 300 17. 300 4. 00 4. 00 69. 2
NO. 3 0. 100 2. 800 0. 00 2. 00 5.6
NO. 3 12. 100 0. 00
NO. 3 14. 900 2. 800 4. 00 2. 00 5.6
NO. 4 0. 000 5. 100 4. 00 4. 00 20. 4
NO. 5 0. 000 20. 000 4. 00 4. 00 80.0
NO. 6 0. 000 20. 000 4. 00 4. 00 80.0
NO. 7 0. 000 20. 000 4. 00 4. 00 80.0
NO. 8 0. 000 20. 000 4. 00 4. 00 80.0
NO. 9 0. 000 20. 000 4. 00 4. 00 80.0
NO. 10 0. 000 20. 000 4. 00 4. 00 80.0
NO. 11 0. 000 20. 000 4. 00 4. 00 80.0
NO. 12 0. 000 20. 000 4. 00 4. 00 80.0
NO. 12 15. 700 15. 700 4. 00 4. 00 62.8
NO. 12 19. 800 4. 100 0. 00 2.00 8.2

250. 420 & E 971.8
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